






































(a)

(b)

Separating materials

Vishal has a mixture of salt and sand.
He adds some water and stirs the mixture.

Complete the sentences below to show what will happen to

the salt and sand mixture after Vishal stirs in water.
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Vishal uses this equipment to separate filter
paper

funnel

the sand from the salt and water.

Describe how the sand is separated from

the salt and water with this equipment.
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(c) Tick ONE box to show which process Vishal could use to get
the salt back from the salt and water mixture.
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condensation evaporation
filtration sieving
(d) Magnets can be used to separate some mixtures.

(i) Tick ONE box to show the mixture which could be

separated with a magnet.
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brass pins iron nails and
and peas steel paperclips
steel paperclips copper beads
and rice and brass pins

(ii)  Explain how a magnet can be used to separate the two

objects in the mixture you chose.
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Trees

(a) Class 6 are investigating trees

in their school grounds.

root

Describe ONE function of the roots.

(b) Tree leaves absorb light from the Sun.

Tick ONE box to show the life process for which leaves
absorb light.
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reproduction nutrition
movement germination
(c) The children observe the flowers on some of the trees.

Complete the labels to name the parts of flower A on the
diagram below.

Nﬁ - ——petal

Flower A
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(d) Here are the children’s observations

of flower B:

The flower does not have a smell.
It does not have bright petals.
It has lots of long stamens.

Flower B

Tick ONE box to show how flower B is pollinated.

Use the children’s observations to help you.

by insects by birds
by wind by humans
(e) The table below can be used to sort the flowers on the trees.

Write all the names of the flowers in the correct boxes on the

sorting diagram. One has been done for you.

Manna ash Magnolia Pear Almond Lilac Elder
X Flower has Flower does not have
R five petals five petals
Manna ash

Flowers are
grouped together
on the stem

Flowers are
spread out along
the stem
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(a)

(b)

(c)

Chocolate

Lucy has a fruit and nut chocolate bar.

Tick THREE boxes to show three properties of solid chocolate.

Y, Solid chocolate...

flows. does not flow.
changes shape. does not change shape.
changes volume. does not change volume.

Lucy wants to separate the fruit and nuts from

the chocolate.

If | heat the chocolate
bar, the chocolate will
change from a solid
to a liquid.

Lucy

Name the scientific process that happens when Lucy heats the

chocolate bar.

Lucy uses a sieve to separate the liquid chocolate from the fruit

and nuts.

Describe ONE property of the liquid chocolate that allows it to
go through the sieve.
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END OF TEST
Please check your answers.

Do not write on this page.
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